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Nach dem Stol3:
e in Bewegung

Vor dem Stol3:

e” in Ruhe E..=0;p=0

Photon: E,=hv; p,=hv/c Photon:

Energieerhaltung: hv=hv'+ % m,Vv*

X

Streuwinkel

Ekin - %mevz; P= meV

E'=hv’;p'=hv'/c
4 Unbekannte: v', 6, Vv, ¢

> Elimination der e- Gréf3en

= Av=1(0)

Impulserhaltung: x-Richtung: h_V _ v C0S 0+ m_vCos @
C C
i 0= V’sin6+m Vsin
y-Richtung: e e ¢ )
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Einsetzen in 1) hv = hv’+%mev2 = hv=hv'+ (v —2vv'cosO+ v'?)

2
2m.c

h2V2

2m_c

e

Av klein=>v=Vv'in(..) = hv=hv'+ -2-(1—cos0)
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h*v?
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Mit dv:_ C2 = AAh=——Av
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cC mA m.cC

:>x'=k+L(1—cose) =A+A.(1-cos0)
m,C

h  6.63:10™ kg m? 7 - £

- =0.243-10"'m =2.43-10"m
m,c  9.1.10%kg-3-10° pf 5%
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